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Multiple Choice Questions

1. An IUCD is

A. Copper-T

B. Condom

C. Vasectomy

D. pill.

Answer: a
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2. A steritisation tachnique is

A. Loop

B. Disphragm

C. Tubectomy

D. Cervical cap.

Answer: d

° Watch Video Solution

3. A contraceptive is

A. condom cervical cap or diaphragm

B. intrauterine device

c. pill


https://dl.doubtnut.com/l/_CU6ezycSRo8f
https://dl.doubtnut.com/l/_HTvWamiJT7pm
https://dl.doubtnut.com/l/_OuLfOsUNn3Oe

D. all the above

Answer: a

° View Text Solution

4. A contraceptive pill contains

A. Progesterone and estrogen

B. Spermicidal salts

C. chemicals that cause automatic abortion

D. Chemicals that prebent fertillzation of ovum .

Answer: ¢

o View Text Solution

5. A contraceptive pill prevents ovulation by :


https://dl.doubtnut.com/l/_OuLfOsUNn3Oe
https://dl.doubtnut.com/l/_r0uCEPVLYK1C
https://dl.doubtnut.com/l/_XvMpQbY0uIKv

A. Blacking fallopian tube

B. inhibiting release of FSH and LH

C. Stimulating release of FSH and LH

D. Causing immediate degeneration of released ovum .

Answer: b

° Watch Video Solution

6. MTP is

A. Multitrade practices

B. Amlthusin treatise on population

C. Multiple temporary frequency

D. Medical termination of pregnancy

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_XvMpQbY0uIKv
https://dl.doubtnut.com/l/_xklF2b2sMeRK

7.Vaginal diaphragm is

A. Spermicidal

B. Able to prevent descent of ova

C. able to prevent sperm contact with ovum

D. Oivcidal

Answer: c

o Watch Video Solution

8. A wealky oral contraceptive is

A. Mala A

B. Mala D

C. Saheli


https://dl.doubtnut.com/l/_xklF2b2sMeRK
https://dl.doubtnut.com/l/_6ON3Ol6kllWi
https://dl.doubtnut.com/l/_f95iPpuprcRR

D. Saheli-2

Answer: ¢

° Watch Video Solution

9. Preventice birth control measure is :

A. Preventing union of sperm and ovum

B. preventing sperms from entering uterus

C. MTP

D. Test tube babies .

Answer: a

o Watch Video Solution

10. A method of sterilisation is


https://dl.doubtnut.com/l/_f95iPpuprcRR
https://dl.doubtnut.com/l/_AqbrRz0Ve4rr
https://dl.doubtnut.com/l/_gQevVaXzo9wB

A.1UDCB

B. Diaphragm

C. Vasectomy

D. loop

Answer: ¢

° Watch Video Solution

Revison Questions From Competitve Exams

1. Purpose of tubectomy is to prevent

A. Coitus
B. Egg formation
C. Fertilization

D. Embryonic development .


https://dl.doubtnut.com/l/_gQevVaXzo9wB
https://dl.doubtnut.com/l/_FYpT5N5geMhE

Answer: ¢

° Watch Video Solution

2. Contraceptive oral pills used by females help in birth control by :

A.Klilling of ova

B. preventing ovulation

C. killing the sperms

D. Forming barrier between sperms and ova .

Answer: b

° Watch Video Solution

3. Most important component of oral contraceptive is :

A. Thyroxine


https://dl.doubtnut.com/l/_FYpT5N5geMhE
https://dl.doubtnut.com/l/_o8K9C5p7q0Ro
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B.LH

C. Progesterone

D.GH

Answer: ¢

° Watch Video Solution

4.Progesterone present in contraceptive pill is meant for preventing :

A. Checking ovulation

B. Preventing fertillisation

C. Preventing inplantation of zygote

D. preventing cleavage

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_EURHWIMttnEx
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5. Copper-T/loop prevents:

A. Ovulation

B. Fertilisation

C. Zygote formation

D. Cleavage .

Answer: b

o Watch Video Solution

6. Tubectomy a method of population control is performed on

A. Both males and female

B. Males only

C. female only

D. Only pregnant females .


https://dl.doubtnut.com/l/_OGxHaQmycaY1
https://dl.doubtnut.com/l/_Nk0TxAc9VJ8X

Answer: C

° Watch Video Solution

7. which is relarted to males ?

A. Oral pill

B. Tubectomy

C. Vasectomy

D. None of the above .

Answer: ¢

° Watch Video Solution

8. A method of birth control is :

A.GIFT


https://dl.doubtnut.com/l/_Nk0TxAc9VJ8X
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B. HJF

C. IVF-ET

D. IUDs.

Answer: d

° Watch Video Solution

9. A methoud of sterilaition is

A.IUDCB

B. Diaphragm

C. Tubectomy

D. loop

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_O4AicP65T1CU
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10. Amniocentesis is a process to

A. herditary abnormality in enbryo

B. Cardiac ailments of embryo

C. Errors in amino acid metabolism in embroyo

D. All the above .

Answer: a

o Watch Video Solution

11. Which of the following is mechanical barrier used in birth control ?

A. Copper-T

B. Diaphragm

C. Loop

D. Dalcon shield.


https://dl.doubtnut.com/l/_RjIPAxYNlo4V
https://dl.doubtnut.com/l/_vK7jhneK9PjV

Answer: b

° Watch Video Solution

12. Oral contraceptives are used by females to check

A.implantation
B. Fertillization
C. Ovulation

D. Entry of sperms in vagina .

Answer: ¢

° Watch Video Solution

13. Amniocentesis involves the anaysis of

A. Amnion


https://dl.doubtnut.com/l/_vK7jhneK9PjV
https://dl.doubtnut.com/l/_02p79FtyCHFT
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B. body fluids of amnitoes

C. Amnoitic fluid

D. amino acids of protein

Answer: ¢

° Watch Video Solution

14. Which one is safest method of birth control ?

A. Termination of unwanted pregnancy

B. Sterilisation techniques

C. Rhyhum method

D. Use of physical barriers

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_XY7qM3CPCpVF
https://dl.doubtnut.com/l/_eSVNguSRi2Sb
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15. In human females menstruation can be deferred by adminstration of

A.FSH and LH

B. Estrogen an dprogesterone

C. FSH only

D.LH only

Answer: b

o Watch Video Solution

16. Given below are four methods (A-D) and their modes of action (i-iv) in
achieving contraception. Select their correct matching from the four

options that follow
Method Mode of Action
Oral pill

(i)  Prevents sperms reaching cervix
Condom (ii) Suppresses sperm motility
(
(

Vasectomy (iii) Prevents ovulation

Sawe

Copper T iv) Semen contain no sperms


https://dl.doubtnut.com/l/_Woq06gcO1Vht
https://dl.doubtnut.com/l/_LzjNVPodGPzs

Aa —iit,b—iv,c —i,d — i1

B.a —1it,b —iii,c —i,d — iv

Ca—1it,b—1i,c—iv,d — 11

D.a —iv,b—1,c—ii,d — iii

Answer: ¢

o Watch Video Solution

17. Which of the following two statements are correct ?

(i) Medical termination of pregnancy (MTP) during first trimester is
generally safe

(ii) Generally chances of conception are nil until mother breast-feeds the
infant upto two years

(iii) Intrauterine devices like copper-T are effective contraceptives

(iv) Contraception pills may be taken upto one week after coutus to

prevent conception.

A.AcC


https://dl.doubtnut.com/l/_LzjNVPodGPzs
https://dl.doubtnut.com/l/_BWqRcOUmkN5l

B.cb

C.b,c

D.cd

Answer: a

° Watch Video Solution

18. Saheli-a new oral contraceptive for females was developed by the

scientists at which institute ?

A. AlIMS, delhi

B. IICB Kolkata

C. SG PGI kucknow

D. CDRI Lucknow

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_BWqRcOUmkN5l
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19. Which of these is used to control human population

A. Estrogen and progesterone

B. IUCD and MTP

C. Tubectomy and vasectomy

D. All the above .

Answer: d

o Watch Video Solution

20. In vitro fertilization is a technique that involves transfer of which one

of the following into the fallopian tube?

A. Zygote or embroyo into 8 celled stage

B. 32- celled stage

C.Zygote only


https://dl.doubtnut.com/l/_roJa09s05i0I
https://dl.doubtnut.com/l/_8X5QZ90ebha7
https://dl.doubtnut.com/l/_0gSPsdTfyfkX

D. Embroyo only upto 8 - celled satge .

Answer: a

° Watch Video Solution

21.CU ions IUDs

A. increase phagocyosis of sperms

B. Suppress sperm motility and fertilizing capacity

C. Prevent ovulation

D. make uterus unsuitable for implatation.

Answer: b

o Watch Video Solution

22.Which one is not included in barrier methods of birth control ?


https://dl.doubtnut.com/l/_0gSPsdTfyfkX
https://dl.doubtnut.com/l/_xbWhy3GsZgaW
https://dl.doubtnut.com/l/_RZPGUM7d0ngD

A. Diaphragm

B. Lippe's loop

C. Cervical cap

D. Vault.

Answer: b

o Watch Video Solution

23. Which one of the following cannot be considered as Assisted

Reproductive Technology (ART) ?

A. in vitro fertilization

B. Medical termination of pregnancy

C. Gamete interafallopian transfer

D. interactoplasmic sperm injaction .

Answer: b



https://dl.doubtnut.com/l/_RZPGUM7d0ngD
https://dl.doubtnut.com/l/_tXXuWbP773dW

| o Watch Video Solution

24. Given below are asserton and reason point out If both are true with
reason being correct explanation (A) both are true but reason is not
correct explation (B) assertion is true but reason is worng ( C) and both
are wrong (D)

Assertion . Amniocentesis is banned

Reason : - AMniocentesis gives inforamtion about fortal abnormalities

o Watch Video Solution

25.The non-medicated IUD is :

A. Copper-T

B. Progestasert

C. Lippes loop

D. LNG-20


https://dl.doubtnut.com/l/_tXXuWbP773dW
https://dl.doubtnut.com/l/_bBsJIFIVyJjI
https://dl.doubtnut.com/l/_aKS7tlKVHQiS

Answer: ¢

° Watch Video Solution

26. Most effective contraceptive method for ladies is :

A. Rhythum method

B. ECP

C. MTP

D. Cu-T

Answer: d

° Watch Video Solution

27. The method of directly injecting a sperm into ovum in assisted

reproductive technology is called


https://dl.doubtnut.com/l/_aKS7tlKVHQiS
https://dl.doubtnut.com/l/_zbr4WRBJQ30O
https://dl.doubtnut.com/l/_5FsY8DtygOHW

A ZIFT

B. ICSI

C.GIFT

D. ET.

Answer: b

o Watch Video Solution

28. Saheli, a new oral contraceptive for the females developed by Indian

scientist is a:

A. Steroidal prepararion

B. Hormonal preparation

C. Non- Steroidal preparation

D. Taxic preparation to kill sperms.

Answer: c



https://dl.doubtnut.com/l/_5FsY8DtygOHW
https://dl.doubtnut.com/l/_GiQgpRtq80CZ

| ° Watch Video Solution

29.Saheli'is :

A. Oral female contraeptive

B. Surgical sterilisaton for females

C. Diaphreagm for females

D. Diaphragm for males

Answer: a

° Watch Video Solution

30. Which of the following is the most widely accepted method of

contraception in india at present ?

A. Diaphragm

B. IUDs


https://dl.doubtnut.com/l/_GiQgpRtq80CZ
https://dl.doubtnut.com/l/_DJIrEPBTjC9q
https://dl.doubtnut.com/l/_ducMtOooVxBx

C. Cervical cap

D. Tubectomy

Answer: b

° Watch Video Solution

31. If for some reason, the vesa effeerentia in the human reproductive

system get blocked, the gametes will not transported from

A. Overy to uterus

B. Vagina to uterus

C. Testis to epididymis

D. Epididmis to vas deferens

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_ducMtOooVxBx
https://dl.doubtnut.com/l/_JxinMDivEmwL
https://dl.doubtnut.com/l/_H4Vi5YnrKYrK

32. Medical Termination of prengnancy (MTP) is considered safe up to

how many weeks of pregnancy

A. Six

B. eight

C. twelve

D. Eighteen

Answer: ¢

o Watch Video Solution

33. The technique called Gamete intra Fallopian Tranfer (GIFT) is

recommended for those females

A. Who cannot produce an ovum

B. Who cannot ratain foetus inside uterus

C. Whose cervical canal is no narrow to allow passage for sparms


https://dl.doubtnut.com/l/_H4Vi5YnrKYrK
https://dl.doubtnut.com/l/_96XVZCK4oJ9r

D. Who cannot provide suitable environ ment for feritlization .

Answer: a

° Watch Video Solution

34. ZIFT is transfer of

A. Zygote into fallopian tube

B. Embryo into uterus

C. Mixture of aperms and ova into fallopian tube

D. mixture of sperms and ova into uterus .

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_96XVZCK4oJ9r
https://dl.doubtnut.com/l/_4FQvdaKdO4GJ

35.in assisted reproductive and ova techology after in vitro fertilization
what is transplanted in fallopian tube

A. Embryo upto 8 blastomeres , if zygote is not tranplanted

B. Blastula is transplanted

C.only zygote is tranplated

D. Morula in 8-24 celled stage is transplanted .

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_pBXhXbrkwaeR

36. What does the figure show

A. Ovarian cancer

B. Uterine cancer

C. Tubectomy

D. Vasectomy

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_cHX54GU32fHu

37. The test-tube baby programme employs which one of the following

techniques ?

A. intracytoplasmic sperm injection

B. Gamete intrefallopin transfer

C. Intrauterine insemination

D. zygote interfallopian transfer.

Answer: d

o Watch Video Solution

38. Oral contraceptive pill is composed of :

A. Estrogen and growth haromone

B. Estrogen and progesterone

C. Estrogen and testoseone

D. Progesterone and testosterone


https://dl.doubtnut.com/l/_TGbSqU1rpDCp
https://dl.doubtnut.com/l/_S3VhWABHrqDE

Answer: b

° Watch Video Solution

39. Urinogential tract infection in males accompained by yellow discharge

, burning felling on passing , fever and headache is

A. AlIDS

B. Gonrrhoea

C. Hepatits B

D. Syphilis

Answer: b

° Watch Video Solution

40. Which one of the following groups includes are sexually transmitted

diseases


https://dl.doubtnut.com/l/_S3VhWABHrqDE
https://dl.doubtnut.com/l/_0qUr4nvvYjRz
https://dl.doubtnut.com/l/_wzU4Oh40y2Kf

A. Hapatitis-B , AIDS , haemophila
B. AIDS, syphils , cholera
C. Trichomonasis , maleria ,HIV

D. Gonorrhoea ,Hepatits-B , chlamydia

Answer: d

o Watch Video Solution

41. A copper releasing IUD is

A. Multiload 375

B. LNG-20

C. Saheli

D. Diaphragm

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_wzU4Oh40y2Kf
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42.n which technique, the donor semen is artificially introduced in to the

uterus?

A ET

B. IUI

C.IuT

D. GIFT

Answer: b

o Watch Video Solution

43. which is wrongly matched

A.ICSI - sperm directly injected into ovum

B. IUT - sperm introduced artifically into uterus


https://dl.doubtnut.com/l/_lA65ufiooC4d
https://dl.doubtnut.com/l/_MKn3CRMdyKEr
https://dl.doubtnut.com/l/_xUoXNc3LcmV3

C.GIFT - Embryo with more than 8 blastomeres tranferred into

fallopian tube

D. IVF - Fertillization outside the body

Answer: ¢

° Watch Video Solution

44. which is not cause of male infertility

A. Motile sperms

B. Oilgosermia

C. Teratozoospermia

D. Asthenozoopermia

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_xUoXNc3LcmV3
https://dl.doubtnut.com/l/_2jwrFtpGsL4Y
https://dl.doubtnut.com/l/_CEqPzDOp2JDU

45. The sexually transmitted infection, that can affect both the male and
female genitals and may damage the eyes of babies born of infected
mothers is

A. Syphilis

B. Gaonorrhoea

C. Hapatits

D. AIDS

Answer: b

o Watch Video Solution

46. Match the contraceptive methods given under column | with their

examples given under column Il and select the correct option from the


https://dl.doubtnut.com/l/_CEqPzDOp2JDU
https://dl.doubtnut.com/l/_2rqsHuPd5kAj

given codes

Column I Column IT
A. Chemical (i)  Tubectomy and vasectomy
B. IUDs (ii) Copper T and loop
C. Barriers (iii) Condom and cervical cap
D. Sterilisation (iv) Spermicidal jelly and foam
(v) Coitus interruptus and calender method

Aa—s,b—t,c—qd—r

B.a —p,b—r,c—q,d—t

Ca—s,b—qc—t,d—p

D.a —s,b—qc—7r,d—0p

Answer: d

o Watch Video Solution

47. A vasectomy prevents :

A. Proucation of sperms in testes

B. Producation of semen


https://dl.doubtnut.com/l/_2rqsHuPd5kAj
https://dl.doubtnut.com/l/_BMGxJvUnAMho

C. Movemnet of sperm into urethra

D. male reection

Answer: c

° Watch Video Solution

48. Permanent contraception in human male is through

A. Diaphragm

B. Tubectomy

C. Vasectomy

D. pill.

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_BMGxJvUnAMho
https://dl.doubtnut.com/l/_kHgMNkmfOmDJ

49. Which of the following cannot be detected in a developing foetus

baby amniocentesis

A. Jaundice syndome

B. Klinefelter's

C. Sex of foetus

D. Down's syndrorome.

Answer: a

o Watch Video Solution

50. One of the legal methods of bith control is

A. By a premature ejaculation during coitus

B. Abortion by taking an approriate medicine

C. By abstining from coits from 10-17 days of menstrual cycle

D. BY having coitus at the time of day break.


https://dl.doubtnut.com/l/_KJDV2OULa5PM
https://dl.doubtnut.com/l/_ndVho0fivjp0

Answer: b

° Watch Video Solution

51. One of the following is not a methd of contraception- which one

A. Pills having oxytocin and vaspressin
B. Lippe's loop
C. Tubectomy

D. Condoms

Answer: a

° Watch Video Solution

52. stage transferred to uterus after induced ferilizartion on ova in the

laboratory is



https://dl.doubtnut.com/l/_ndVho0fivjp0
https://dl.doubtnut.com/l/_mNJk5BM0THCo
https://dl.doubtnut.com/l/_Y5Ai1EXY3HaO

A. Embryo at two - blastomere stage

B. Morula

C. Zygote

D. Embryo at four blastomere stage

Answer: b

o Watch Video Solution

53. Which one of the following statements is correct regarding sexually

Transmitted Diseases (STD)

A. Haemophilia is one of the STD

B. Genital herpes and sicke cell anaemia are both STD

C. Chances of a five years old boy contracting a STD are vary little

D. A Person may contract syphilis by sharing milk with one already

suffering from disease .


https://dl.doubtnut.com/l/_Y5Ai1EXY3HaO
https://dl.doubtnut.com/l/_OiRKHdaRR17T

Answer: ¢

° Watch Video Solution

54. Which of the following is hormone releasing IUD ?

A.CU-T

B.Cu7

C.LNG-20

D. Multiload 475

Answer: ¢

° Watch Video Solution

55.Induced abortion is also called .

A.1IUD


https://dl.doubtnut.com/l/_OiRKHdaRR17T
https://dl.doubtnut.com/l/_ORuwUUl4aw5n
https://dl.doubtnut.com/l/_NJwG0EGifaZz

B. PID

C. MTP

D.STD

Answer: ¢

° Watch Video Solution

56.the word tubectomy refers to

A. Sterilisation of male reproductive organ

B. sterilisation of female reproductive organ

C. Insertion of Cu-T

D. Use of condoms

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_NJwG0EGifaZz
https://dl.doubtnut.com/l/_sYjlk7YibhlB
https://dl.doubtnut.com/l/_SzxciKZTO9iq

57. Causes for increased population growth in India is/are

A. High birth rate

B. Low death rate of infants

C. Lack of education

D. All of these

Answer: d

o Watch Video Solution

58. Which is common match of amniotic fluid test

A. IVF

B. ZIF

C.GIFT

D. None of them


https://dl.doubtnut.com/l/_SzxciKZTO9iq
https://dl.doubtnut.com/l/_Ymck2eun8HUQ

Answer: d

o Watch Video Solution

59. Read the statements A and B and identify the correct choice from
those given:
Statement A: Women are at the peak of conceptionon the 14th day of
menstrual cycle
Statement B : Vasectomy is the method normally, employed to avoid
conception in females.

A.satement A is wrong B is right

B. statement a is right b is wrong

C. Both the statement arae right

D. Both the statement are wrong

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_Ymck2eun8HUQ
https://dl.doubtnut.com/l/_GoEvBqLl9VXJ

60. The appearance of rashes all over the body are the symptoms of:

A. Gonorrhoea
B. AIDS
C. Syphilis

D. Fever

Answer: c

o Watch Video Solution

61. which contraceptive device makes uterus unsuitable for implantation

A. Progestasert
B. CuT
C. Lippe's loop

D. Multiload.


https://dl.doubtnut.com/l/_GoEvBqLl9VXJ
https://dl.doubtnut.com/l/_2aTfOOnQ8613
https://dl.doubtnut.com/l/_XSAfccfUZzF3

Answer: a

o Watch Video Solution

62. Given below are assertion and reason point out if both true with
reason being correct explantion (A) both are true but reason is not
correct explanation (B) ,assertion is true but reason is wrong (c ) and
both are wrong (D)

Assertion :- Peridic abstinence is a natural method where coules abstain
from coitus

Reason:- coitus from days 5-10 should be avoided because this is the time

of ovulation

o Watch Video Solution

63. which of the following sexually transmitted disease is caused by yeast

A. Candidasis


https://dl.doubtnut.com/l/_XSAfccfUZzF3
https://dl.doubtnut.com/l/_o6grZiuz2Hvt
https://dl.doubtnut.com/l/_xDelRWlZ0uFC

B. Scabies

C. Enterbisasis

D. Syphilis

Answer: a

° Watch Video Solution

64. CuT,LNG-20and Cu7 are examples of

A. Contraceptive pills

B. Surgical methods od strization

C. Assisted reproductive techology

D. Intrauterrine device

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_xDelRWlZ0uFC
https://dl.doubtnut.com/l/_4MosgNnhOB3u
https://dl.doubtnut.com/l/_lnQGFhMYle6D

65. which is not a sexually transmitted disease

A. Genital warts

B. Trichomoniasis

C. Chalamyenia gravis

D. Myasthenia gravis

Answer: d

o Watch Video Solution

66. Which is the hormonal method of birth control ?

A. pill

B.IUD

C. Vasectomy

D. Femdom


https://dl.doubtnut.com/l/_lnQGFhMYle6D
https://dl.doubtnut.com/l/_pNKQrb2pTCEh

Answer: a

° Watch Video Solution

67.In which technique, the donor semen is artificially introduced in to the

uterus?

A. Intravaginal insemination

B. Intrauterine insemination

C. Gamete intrafallopian transfer

D. interacytoplasmic sperm injection

Answer: b

° Watch Video Solution

68. which of the following statement is wrong


https://dl.doubtnut.com/l/_pNKQrb2pTCEh
https://dl.doubtnut.com/l/_iJlIJ5bF2Lap
https://dl.doubtnut.com/l/_ja86HtGlq6OH

A. Test tube body begins growth inside test tube

B. Test tube body grows within mother's womb

C. test tube boby grows within surrogate mother's womb

D. Test tube baby grows following uterine fertillzation .

Answer: d

o Watch Video Solution

69. Oral contraceptive pill females developed at CDRI lucknow is

A. male -D

B. LNG-20

C. Saheli

D. Mala-A

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_ja86HtGlq6OH
https://dl.doubtnut.com/l/_QQB7LcubTrjV

70. In which " assisted repuctive technology "(ART) test tube baby

procedure is applied

A. Gamete interfallopian tranfer

B. Ineracytoplasmic sperm injection

C. IN vitro fertillization and embryo transfer

D. Zygote intrafallopian transfer.

Answer: c

° Watch Video Solution

71.1UDs which are used by females :

A. Act as spermicidal gel

B. black the enrty of sperm into vagina


https://dl.doubtnut.com/l/_QQB7LcubTrjV
https://dl.doubtnut.com/l/_r7IJ5Y14B6ce
https://dl.doubtnut.com/l/_GncbwYE3dDbk

C.Are implanted under skin where they release progestogen and

estrogen

D. Release copper ions in the uterus that increase phagocyosis of

sperms.

Answer: d

o Watch Video Solution

72. Which one of the following causes population explosion ?

A. Decrease in death rate , maternal mortality rate infant mortality

rate

B. Decrease in death rate and increase in materanal mortality rate

C. Decrease in infant mortality rate and increase in death rate

D. Decrease in infant mortality rate and decrease in the number of

people in reproductive age .


https://dl.doubtnut.com/l/_GncbwYE3dDbk
https://dl.doubtnut.com/l/_mRsgbxOYqNFw

Answer: a

° Watch Video Solution

73.The technique used to block the passage of sperm in male is

A. Tubectomy

B. Vasectomy

C. Coitus interruptus

D. rhythm method

Answer: b

° Watch Video Solution

74. In case of a couple where the male is having a very low sperm count,

which technique will be suitable for fertilisation


https://dl.doubtnut.com/l/_mRsgbxOYqNFw
https://dl.doubtnut.com/l/_8MP2antavt4F
https://dl.doubtnut.com/l/_996aLoSBpR7s

A. Intrauterine transfer

B. Gamete intrefallopin transfer

C. Artificial intrafallopian

D. Intracytoplasmic sperm injaction

Answer: ¢

o Watch Video Solution

75. Assisted reproductive to technology. IVF involves transfer of

A. Zygote into fallopian tube

B. zygote into uterus

C. Embryo with 16 blastomeres into the fallopian tube

D. ovum into fallopian tube .

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_996aLoSBpR7s
https://dl.doubtnut.com/l/_W2CFj3gK6mtk

76. Tubectomy is a method of sterilization in which :

A. Overies are removed surgically

B. Small part of vas deferens is removed or tied up

C. Uterus is removed surgically

D. small parat of fallopian tube is removed or tied up.

Answer: d

° Watch Video Solution

77. Amniocentesis can diagnose which of the following defects
(a) Trisomy (b) Neural tube defects
(C) infection (d) Lung maturity.

A.a,bandc

B.aband d


https://dl.doubtnut.com/l/_W2CFj3gK6mtk
https://dl.doubtnut.com/l/_IDbYiv7e3slo
https://dl.doubtnut.com/l/_Xm8EyM7IZn5O

C.b,c,and d

D.a,b,cand d

Answer: d

o Watch Video Solution

78. Amniocentesis involves examination of :

A. Amino acids

B. Membreane

C. Skin cells

D. Sex cells

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_Xm8EyM7IZn5O
https://dl.doubtnut.com/l/_CntiJooOImSq

79.in birth control methods , which one is an intra- uterus device

A. LNG-20

B. Saheli

C.Vaginal ring

D. DMPA

Answer: a

o Watch Video Solution

80. Progestasert in and IUD which makes the uterus unsuitable and cervix

hostile to the sperms as they are

A. Non medicated IUD

B. Ideal contraceptive

C. Copper relasing IUD

D. Hormone relasing IUD


https://dl.doubtnut.com/l/_s3cMO84uE8x2
https://dl.doubtnut.com/l/_SMLAmrvIIq5z

Answer: d

° Watch Video Solution

81. Assissted Reproductive Tecnology does not include

A. Gamete intrafallopian transfer
B. Artificial insemination
C. IN vitro fertillization and embryo transfer

D. zygote extra - fallopian transfer.

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_SMLAmrvIIq5z
https://dl.doubtnut.com/l/_ZxDHMub2Mz0H

82. match the columnl,ll and Ill find the correct option

1 II
(p) Trichmoniasis (i) Herpes simplex (z)
(¢) syphilis (i) Neisseria gonorrhoeae (y)
(r) Gonrrhoea (i47) treponema pallidum  (2)
(s) Genital herpes (iv) trichomonas vaginalis (w)

AP—ivyq—1it—2z,r—1i—7r,s—1—wW

BBP—iw—2x,q—1t—w,r— 1 —Y,s — 1L — 2

CP—iw—-—y,q—t—2z,r—1ii—x,8 — it —w

DP—4—2z,q—1 —y,r—1iv—w,s— 1l — &

Answer: a

117

pain in lower abc
inflammation an
patchy hair loss

Feeling of uneas:

o Watch Video Solution

8. match the following and find the correct combination
(a) syphilis (¢)  human papilloma virus
(b) genital warts (i¢) HBV

(¢) Hepatitis-B  (iii) treponema pollidum

(d) Gonorrhoea (iv) HSV

(v) Neisseria


https://dl.doubtnut.com/l/_VIOmBqJWVopS
https://dl.doubtnut.com/l/_G7ebvvqgctSU

Aa—1ii,b—1i,c—iv,d —v

B.a —iii,b —i,c —iv,d — v

Ca—1it,b—1i,c—1ii,d—v

D.a —ii,b—iii,c —iv,d — v

Answer: ¢

o Watch Video Solution

84. After tubectomy which which part of female reproductive system

remains blocked

A. Cervix

B. Uterine cavity

C. Ovary

D. Fallopian tube

Answer: d



https://dl.doubtnut.com/l/_G7ebvvqgctSU
https://dl.doubtnut.com/l/_I8fLkyvPlLsp

| o Watch Video Solution

85. A childless couple can be assisted to have a child through a technique

called GIFT. The full form of this technique is :

A. Gamete inserminted fallopian transfer

B. Gamete intrefallopin transfer

C. Gamete intetnal fertillization and transfer

D. Germ cell internal fallopian transfer

Answer: b

o Watch Video Solution

86. Transfer of an ovum of a doner into fallopian tube of a surrogate

mohter is

A ET


https://dl.doubtnut.com/l/_I8fLkyvPlLsp
https://dl.doubtnut.com/l/_eWcmUoZVIAqa
https://dl.doubtnut.com/l/_iOHAA9VqtHRv

B. IUT

C.GIFT

D. ZIFT

Answer: c

o Watch Video Solution

87. match and choose the correct option

1 11

Gonorrhoea

B

i)  Loss of appetite, pain upper right abdomen
trichomoniasis (¢¢) white patches on tongue or roof of buccal cavit

(
(

Hepatits B (i4¢)  Pain while passing urine
(

—~ A~ —~
=

®»

syphilis iv) Itchingin and and around vagina
Ap—1i,q—1iv,r — i1, S — 111
B.p —iv,q — 12,7 — 12,8 — 1

C.p—1t,q—1tv,r — 1,8 — 1l

D.p —tt,q — &, 7 — 11,8 — 1V


https://dl.doubtnut.com/l/_iOHAA9VqtHRv
https://dl.doubtnut.com/l/_E5hiuEXAQ8KF

Answer: ¢

° Watch Video Solution

88. Amniocentesis is one of the methods

A. Adapted for MTP

B. OF birth control

C. For foetal sex determination

D. Used for safe parturition

Answer: ¢

° Watch Video Solution

89. Lactational amenorrhoea prevents

A. Secretion of malk from breast


https://dl.doubtnut.com/l/_E5hiuEXAQ8KF
https://dl.doubtnut.com/l/_cCJoXWXNKJrZ
https://dl.doubtnut.com/l/_N9CrhERqhCIw

B. Conception

C. secretin of prolactin

D. Spermatogenesis

Answer: b

° Watch Video Solution

90. Steriisation period of treponema pallidum is about

A. 2-4 days

B. 7-21 days

C.1-2 days

D. 3-4 weeks

Answer: d

° View Text Solution



https://dl.doubtnut.com/l/_N9CrhERqhCIw
https://dl.doubtnut.com/l/_iyDMVeyFhQmM
https://dl.doubtnut.com/l/_hdKOpihqMcHf

91. Sterilisation procedure in human female is

A. Coitus interruptus

B. rhythum method

C. Tubectomy

D. Vasectomy

Answer: ¢

o Watch Video Solution

92. With regard to birth control method in humans DMPA stands for

A. Medical termination of pregenancy (MTP)
B. Assisted repuctive technolgy (ART)
C. Contraceptive injection

D. Durgical procedure


https://dl.doubtnut.com/l/_hdKOpihqMcHf
https://dl.doubtnut.com/l/_dsTWGZje62Qw

Answer: ¢

° Watch Video Solution

93. Match and find the correct option
I 11

(a) Contraceptive (i)  prevents sperms reaching female reproducti
(b) Condom (é¢) inhibits ovulation and implantation

(¢) Vasectomy (iti)  Increasephasgocyosis of sperms

(d) Copper-T (iv) Blocks gamete transport

Aa—1iv,b—1i,c—ii,d — i1

B.a —i,b—ii,c— iii,d — iv

Ca—1ii,b—1,c—1iii,d — v

D.a —1t,b—1i,c—iv,d — it

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_dsTWGZje62Qw
https://dl.doubtnut.com/l/_aLs7yqQSZy0r

94, Lactational amenorrhoea menas

A. Medical terminal of pregnancy

B. Oral administtration of progesterone

C. Coitus interruptus

D. Absence of menstruation during intense lactation .

Answer: d

o Watch Video Solution

95. In context of amniocentesis which of the following statements in

incorrect

A. It is used for detectin of cleft palate

B. It is usually done when a women is between 14-16 weeks pregnant

C.it is used for prentatal prenant


https://dl.doubtnut.com/l/_NYmjGYwoDDnV
https://dl.doubtnut.com/l/_soWrDGxQO9t6

Answer: a

° View Text Solution

96. Which of the following approches does not give the defined action of

contraceptive

A. Vasectomy - Prevents spermatogenesis

B. Barrier methods -Prevents fertillization

C.Intra- uterine devices - Increase phagocyosis of sperms suppress

sperm motiliity and fertilizing capacity of sperms


https://dl.doubtnut.com/l/_soWrDGxQO9t6
https://dl.doubtnut.com/l/_IyVc3bBWNUoJ

D. Hormonal cantraceptives - Prevent / retard entry of sperms ,

prevent ovulation

Answer: a

° Watch Video Solution

97. Which of the following is incorrect regarding vasectomy?

A. Irreversible sterility

B. NO sperm ocurs in seminal fluid

C. No sperm occurs in epididymis

D. Vasa deferentia are cut and tied .

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_IyVc3bBWNUoJ
https://dl.doubtnut.com/l/_ueAiC0lPvXJs

98. Embryo with more than 16 blastomeres formed due to in vitro
fertilization is transferred into
Given below are assertion and reason .point out if both arae true with
reason being correct explanation (A) both true but reason being correct
explantion (B) ,assertion true but reason is wrong (c ) , both are wrong (D
).

A. Cervix

B. Uterus

C. Fallopian tube

D. Fimbriae

Answer: b

o Watch Video Solution

99. Assertion : Fotal disorders can be diagnosed by chrionic villi sampling


https://dl.doubtnut.com/l/_Fyfm9QBsnX8M
https://dl.doubtnut.com/l/_mJ0D29GLly7L

Reason : Karyotyping cells be done by mitotically dividing cells of chrionic

villi

o Watch Video Solution

100. Match sexually transmitted diseases with their causative agents

1 11

Gonorrhoea i) HIV

)

(
syphilis (it1) Neisseria
Genital warts  (¢i7) Treponema
(

AIDS

—~ A~ o~
=

V)

iv) Human papilloma virus

Aa—1ii,b—iii,c —iv,d — 1

B.a — iii,b — iv,c — i,d — i@

Ca—1iv,b—1ii,c—1ii,d —1

D.a —iv,b—1ti,c—ii,d — @

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_mJ0D29GLly7L
https://dl.doubtnut.com/l/_mJebu8WSaMq7
https://dl.doubtnut.com/l/_nFofvKh5JBsF

101. In case of a couple where the male is having a very low sperm count,

which technique will be suitable for fertilisation

A. Intrauterine transfer

B. Gamete intracytoplasmic fallopian trasfer

C. Artificial insemination

D. Intracytoplasmic sperm injaction

Answer: d

° Watch Video Solution

Check Your Grasp

1. Al in reproductive health is

A. Assisted onsemination

B. Astificial insemination


https://dl.doubtnut.com/l/_nFofvKh5JBsF
https://dl.doubtnut.com/l/_PrSyo2Z4Hfgn

C. Antibody introducation

D. Antigen inducation

Answer:

° Watch Video Solution

2. Oilgospermia is caused by

A. Alcohlolism

B.STD

C. Damage to prosate or seminal vesicles

D. All the above .

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PrSyo2Z4Hfgn
https://dl.doubtnut.com/l/_xRmUeJuoXo14

3. Elevation of prolactin level in normal female causes

A. Non-implantion

B. Non- ovulation

C. Oligo- ovulation

D. Ovartan cysts.

Answer:

o Watch Video Solution

4. Chancroid is a sexually transmitted disease caused by

A. Trichomanas

B. Treponema

C. Haemophilus

D. Neisseria


https://dl.doubtnut.com/l/_lwYyVD4aqX63
https://dl.doubtnut.com/l/_2uc3EcHH7Mjd

Answer:

° Watch Video Solution

5. MTP Act of of 1971 was amended in

A. 1994

B. 1998

C. 2002

D. 2003

Answer:

° Watch Video Solution

6.Ilmplanon is

A. Morning -after pill


https://dl.doubtnut.com/l/_2uc3EcHH7Mjd
https://dl.doubtnut.com/l/_vcwI4CXoqYk6
https://dl.doubtnut.com/l/_nzwL7Kt6HrL4

B. Contraceptive pill

C. Injectable contraceptive

D. Contraceptive implant

Answer:

° Watch Video Solution

7.Fem shield is a

A. Barrier contraceptive

B. chemical contraceptive

C. Emergency contraceptive

D. Injectable contraceptive

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nzwL7Kt6HrL4
https://dl.doubtnut.com/l/_eXZ98jr51m6F
https://dl.doubtnut.com/l/_8uUDyqAOqqLg

8.Reproductive health is related is related to

A. Physical fitness

B. Emotinal compatibility

C. Behavioral inter-relationships

D. All the above .

Answer:

° Watch Video Solution

9. Toxic cytokines are produced by

A. Oral pill

B. CU-T

C. Saheli

D. Sponge


https://dl.doubtnut.com/l/_8uUDyqAOqqLg
https://dl.doubtnut.com/l/_wlaKkdiabx2l

Answer:

° Watch Video Solution

10. Progestasert is

A.1IUD

B. Oral pill

C. Male condom

D. female condom.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wlaKkdiabx2l
https://dl.doubtnut.com/l/_yxLNZn0ApCOY

